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OrM & 2 )} 33,497,666 28,777,431 4,720,235
= 5,3%4,191 1,479,810 3,914,381
s 10,528,000 10,528,000 0
= 500,000 500,000 0
= 8,126,903 6,972,503 1,154,400
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= 5,391,222 1,476,841 3,914,381
iy 10,528,000 10,528,000 0
S 500,000 500,000 0
& 8,115,871 6,961,470 1,154,401
= 7,816,064 7,840,270 A24,206
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= 9,641 9,641 0
& 39,670 39,670 0
= 386,867 407,378 220,511
S=0| orMae| 145,576 165,847 AN20,271
101 eI t| 135,576 155,847 AN20,271
M IIRINZ2Z2XsEs 135,576 155,847 A20,271
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S+ OHIE HI4E NSHHEX X 21,760 22,000 A240
401 Al&HIZ 20| 21,760 22,000 AN240
01 AlEHI 21,760 22,000 A240
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THOHCH=E 22| 9,494,835 4,424,848 5,069,987
= 5,381,581 1,467,200 3,914,381
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= 5,381,581 1,467,200 3,914,381
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= 5,381,581 1,467,200 3,914,381
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SCHIHOH Ol 57,144 62,044 4,900
ZCHAFITHH Ofl e 54,544 59,444 4,900
201 Let=d] 50,980 55,880 24,900
01 At2teltl 50,980 55,880 4,900
Odidtz 284 8ot A% =9
Z& 18,600,000 18,600 20,000 1,400
Ogtd 2|kt g d&d 15,700,000 15,700 17,940 N2,240
OBd2e|xt A4 d&d 16,680,000 16,680 17,940 1,260
=2 Tss 23 336,098 527,439 A191,341
= 2,969 2,969 0
S 2,821 2,822 AT
= 330,308 521,648 A191,340
oI ns=d 2t 31,416 31,417 A
= 2,969 2,969 0
S 2,821 2,822 A1
[Ea 25,626 25,626 0
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= 675 675 0
=S 472 473 A
s 1,103 1,103 0
201 et 3| 2,250 2,251 A1
= 675 675 0
T 472 473 A
o 1,103 1,103 0
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SAds 4,664 18,404 A13,740




A QD)
Hu: F0l NP5 s

=l _H'_IA:*EHHI i (Gt H2)
A -3 - GRA(3) - ARAY - BES Ofl &2y I3 ] ImE=r",
201 23| 0 13,740 A13,740
01 At 2teltl 0 13,740 A13,740
Osids 28 0 13,740 A13,740
-Hsd =29 34 03 0 4,300 24,300
-dH=d 38 0 0 3,000 3,000
= PIPNIESES, 38 0 0 5,600 5,600
-EIHAH OFAl 38 0 0 840 2840
HI&OHHl SEAetus 400 1,000 2600
201 Let2aY| 400 1,000 2600
01 At22tell 400 1,000 AB00
Odl&Uidl SEHStus BAL =
d& 400,000 400 1,000 2600
MNBI=ER223 X 248,282 425,282 A177,000
MNESReY 2I(LEly) 21,482 66,482 45,000
301 LetEA=Z 21,482 66,482 45,000
0 AR=SR2E= 21,482 66,482 /45,000
OAR =223 21,482 66,482 /45,000
= S(eedy) & 15,766,0008 15,766 52,320 A\36,554
-2 Al Hi(2er43) ZF 3,360,000 3,360 8,400 A5,040
-1 S Hi(2erty) & 1,440,000 1,440 3,600 A2,160
-1l 5 gi(2erdy) 23 02 0 662 2662
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43 916,000 916 1,500 A584
MEIER2Y 2 (AEI=X) 26,800 58,800 232,000
301 LetEAZ 26,800 58,800 232,000
0 ARISRRIALHS 26,800 58,800 32,000
OABIS2A SAHI(ARISA)
& 26,800,000 26,800 58,800 A32,000
MEISSHE XS (HEAY) 200,000 300,000 100,000
301 LetEAZ 200,000 300,000 100,000
0 ARERRAZHS 200,000 300,000 100,000
OAZ=ERed 2as(dE)
& 200,000,000 200,000 300,000 100,000
FETA A~ gotd 190,414 323,414 133,000
oAZAEl 29 190,414 323,414 133,000
AgLYl 24 26,500 159,500 133,000
401 AlZHIL 20 0 133,000 133,000
01 A2 0 128,000 128,000
Ol ASA2U B 38 0 0 128,000 128,000
02 Zell 0 5,000 5,000
Od= 2SS4 2= &2l
38 03 0 5,000 5,000




